

ZDZISŁAW SZAFRAŃSKI, BŁAŻEJ SZMANDA

## OSCILLATIONS OF SOME LINEAR DIFFERENCE EQUATIONS

The purpose of this paper is to establish sufficient conditions for the oscillation of solutions of some linear difference equations.

Key words: oscillations, linear difference equations.

## 1. Introduction

In the past several years the oscillation and nonoscillation of solutions of difference equations have been extensively investigated. See, for example [1, 3–4, 6–7, 10–15] and the references cited therein. In particular, the oscillations of the solutions of the neutral difference equations have been studied in [2, 5, 8, 9]. For the general theory of difference equations the reader is referred to the recent books [1, 4, 7]. Our main purpose in this paper is to establish sufficient conditions for the oscillation of solutions of some linear difference equations.

Consider the difference equations of the form

$$(1) \quad \Delta \left( y_n + \sum_{i=1}^m p_i y_{n-k_i} \right) + \sum_{j=1}^v q_j y_{n-r_j} = 0, \quad n \in N$$

where  $N = \{0, 1, 2, \dots\}$ ,  $\Delta$  is the forward difference operator defined by  $\Delta x_n = x_{n+1} - x_n$  for any sequence  $(x_n)$  of real numbers and

$$p_i \in \mathbb{R} \text{ and } k_i \in N \quad \text{for } i = 1, \dots, m;$$

$$q_j \in (0, \infty) \text{ and } r_j \in N \quad \text{for } j = 1, \dots, v.$$

Let

$$p = \max \{k_1, \dots, k_m, r_1, \dots, r_v\}.$$

By a solution of (1) we mean a sequence  $(y_n)$  which is defined for  $n \geq -p$  and which satisfies (1) for all  $n \in N$ . A nontrivial solution  $(y_n)$  of Eq. (1) is called oscillatory if for every  $k \in N$  there exists  $n \geq k$  such that  $x_n x_{n+1} \leq 0$ . Otherwise it is called nonoscillatory.

## 2. Some basic lemmas

In this section we group some lemmas which will be useful in our study of Eq. (1).

*Lemma 1.* Let  $(y_n)$  be a solution of Eq. (1). Set

$$(2) \quad z_n = y_n + \sum_{i=1}^m p_i y_{n-k_i}.$$

Then  $(z_n)$  is a solution of Eq. (1), i.e.

$$\Delta z_n + \sum_{i=1}^m p_i \Delta z_{n-k_i} + \sum_{j=1}^v q_j z_{n-r_j} = 0.$$

*Proof.* Denote the left hand side of Eq. (1) by  $L(y)$ . We show that  $L(z) = 0$ , where  $z = (z_n)$  is defined by (2). In fact, since Eq. (1) is linear and autonomous we have

$$\begin{aligned} L(z) &= \Delta z_n + \sum_{i=1}^m p_i \Delta z_{n-k_i} + \sum_{j=1}^v q_j z_{n-r_j} = \\ &= \Delta y_n + \sum_{i=1}^m p_i \Delta y_{n-k_i} + \sum_{i=1}^m p_i \left( \Delta y_{n-k_i} + \sum_{s=1}^m p_s \Delta y_{n-k_i-k_s} \right) + \\ &\quad + \sum_{j=1}^v q_j \left[ y_{n-r_j} + \sum_{s=1}^m p_s y_{n-r_j-k_s} \right] = \\ &= \sum_{i=1}^m p_i \left[ \Delta y_{n-k_i} + \sum_{s=1}^m p_s \Delta y_{n-k_i-k_s} \right] + \sum_{j=1}^v q_j \sum_{s=1}^m p_s y_{n-r_j-k_s} = \\ &= \sum_{i=1}^m p_i \left[ \Delta \left( y_{n-k_i} + \sum_{s=1}^m p_s y_{n-k_i-k_s} \right) \right] + \sum_{i=1}^m p_i \sum_{j=1}^v q_j y_{n-k_i-r_j} = \\ &= \sum_{i=1}^m p_i \left\{ \Delta \left[ y_{n-k_i} + \sum_{s=1}^m p_s y_{n-k_i-k_s} \right] + \sum_{j=1}^v q_j y_{n-k_i-r_j} \right\} = 0 \end{aligned}$$

that is  $(z_n)$  is a solution of (1).

The next lemma shows that if Eq. (1) has nonoscillatory solution then it also has a nonoscillatory solution with "nice" properties which are useful in the study of Eq. (1).

*Lemma 2. Let  $(y_n)$  be an eventually positive solution of Eq. (1) and define  $(z_n)$  by (2) and  $(w_n)$  by*

$$(3) \quad w_n = z_n + \sum_{i=1}^m p_i z_{n-k_i}.$$

Then

- a)  $(w_n)$  is a solution of Eq. (1),  
 b) either

$$(4) \quad z_n > 0, \Delta z_n < 0 \quad \text{and} \quad \lim_{n \rightarrow \infty} z_n = 0$$

or

$$(5) \quad z_n < 0, \Delta z_n < 0 \quad \text{and} \quad \lim_{n \rightarrow \infty} z_n = -\infty,$$

- c) either

$$(6) \quad w_n > 0, \Delta w_n < 0, \Delta^2 w_n > 0 \quad \text{and} \quad \lim_{n \rightarrow \infty} w_n = 0,$$

or

$$(7) \quad w_n > 0, \Delta w_n > 0, \Delta^2 w_n > 0 \quad \text{and} \quad \lim_{n \rightarrow \infty} w_n = \infty.$$

Furthermore

(4) holds if and only if (6) holds

and

(5) holds if and only if (7) holds.

*Remark.* Evidently, all the above inequalities hold eventually.

*Proof*

- a) This follows from Lemma 1.

b) From (1) and (2) we have

$$(8) \quad \Delta z_n = - \sum_{j=1}^{\nu} q_j y_{n-r_j} < 0 \quad \text{eventually.}$$

Hence  $(z_n)$  is eventually decreasing. Therefore either  $\lim_{n \rightarrow \infty} z_n = -\infty$  or

$$\lim_{n \rightarrow \infty} z_n = L$$

that is either (5) holds or (9).

If (9) holds, then from (8) we get

$$0 = \lim_{n \rightarrow \infty} \sum_{j=1}^{\nu} q_j y_{n-r_j}$$

and so

$$\lim_{n \rightarrow \infty} y_n = 0.$$

Hence, by (2), we have  $\lim_{n \rightarrow \infty} z_n = 0$  that is (4) holds.

c) From (b) we see that either  $z_n > 0$  or  $z_n < 0$  eventually. First assume  $z_n > 0$ . Then

$$\Delta w_n = - \sum_{j=1}^{\nu} q_j y_{n-r_j} < 0 \quad \text{eventually}$$

and so  $(w_n)$  eventually decreases. Since  $\lim_{n \rightarrow \infty} z_n = 0$  we have  $\lim_{n \rightarrow \infty} w_n = 0$ , and so  $w_n > 0$ . Further we get

$$\Delta^2 w_n = - \sum_{j=1}^{\nu} q_j \Delta z_{n-r_j} > 0.$$

On the other hand, if  $z_n < 0$ , then

$$\Delta w_n = - \sum_{j=1}^{\nu} q_j z_{n-r_j} > 0 \quad \text{eventually.}$$

Now since  $\Delta w_n > 0$  and  $\Delta^2 w_n > 0$  we have  $\lim_{n \rightarrow \infty} w_n = \infty$  which implies  $w_n > 0$  eventually. Therefore (4) implies (6) and (5) implies (7). It follows easily that (6) implies (4) and (7) implies (5). The proof is complete.



The next lemma provides sufficient conditions for (6) or (7) to hold.

*Lemma 3.* Let  $(y_n)$  be an eventually positive solution of Eq. (1) and let the sequence  $(z_n)$  and  $(w_n)$  be defined by (2) and (3). Then

- a) If  $p_i \geq 0$  for  $i = 1, \dots, m$ , then (6) is true.  
 b) If  $p_i \leq 0$  for  $i = 1, \dots, m$ , then  $\sum_{i=1}^m p_i \neq -1$ .

Furthermore

$$\sum_{i=1}^m p_i > -1 \text{ implies (6),}$$

while

$$\sum_{i=1}^m p_i < -1 \text{ implies (7).}$$

c) Suppose  $p_i > 0$  for  $i = 1, \dots, m^*$  and  $p_i < 0$  for  $i = m^* + 1, \dots, m$ . Denote

$$(10) \quad k^+ = \max_{1 \leq i \leq m^*} k_i, \quad k^- = \min_{m^* + 1 \leq i \leq m} k_i$$

and assume  $k^+ \leq k^-$ . Then  $\sum_{i=1}^m p_i \neq -1$ .

Moreover,

$$\sum_{i=1}^m p_i > -1 \text{ if and only if (6) holds,}$$

and

$$\sum_{i=1}^m p_i < -1 \text{ if and only if (7) holds.}$$

*Proof*

a) Since  $p_i \geq 0$  ( $i = 1, \dots, m$ ) and  $(y_n)$  is eventually positive we see from (2) that  $z_n > 0$  eventually and by Lemma 2 (6) holds.

b) Now, since  $(z_n)$  decreases, we have

$$0 < w_n = z_n + \sum_{i=1}^m p_i z_{n-k_i} \leq z_n \left( 1 + \sum_{i=1}^m p_i \right).$$

Hence

$$\sum_{i=1}^m p_i \neq -1 \quad \text{and so}$$

$$1 + \sum_{i=1}^m p_i > 0 \quad \text{implies } z_n > 0$$

and

$$1 + \sum_{i=1}^m p_i < 0 \quad \text{implies } z_n < 0.$$

Therefore the result follows from Lemma 2.

c) Since

$$n - k^+ \leq n - k_i \quad i = 1, \dots, m^*,$$

$$n - k^- \geq n - k_i \quad i = m^* + 1, \dots, m,$$

and  $(z_n)$  is a decreasing sequence, we get

$$\begin{aligned} 0 < w_n &= z_n + \sum_{i=1}^{m^*} p_i z_{n-k_i} + \sum_{i=m^*+1}^m p_i z_{n-k_i} \leq \\ &\leq z_{n-k^+} \left( 1 + \sum_{i=1}^{m^*} p_i \right) + z_{n-k^-} \left( \sum_{i=m^*+1}^m p_i \right) \leq z_{n-k^+} \left( 1 + \sum_{i=1}^m p_i \right). \end{aligned}$$

Thus our assertion follows analogously as in the case b).

### 3. Main results

The first result provides sufficient conditions for the nonoscillatory solutions of Eq. (1) to tend to  $\infty$  as  $n \rightarrow \infty$ .

*Theorem 1.* Let  $(y_n)$  be an eventually positive solution of Eq. (1). If  $p_i \geq 0$  for  $i = 1, \dots, m-1$ ,  $p_m < 0$ ,  $\max_{1 \leq i \leq m-1} k_i \leq k_m$  and

$$\sum_{i=1}^m p_i < -1$$

then

$$\lim_{n \rightarrow \infty} y_n = \infty.$$

*Proof.* By Lemma 3 c) with  $m^* = m - 1$ , it follows that

$$\lim_{n \rightarrow \infty} z_n = -\infty.$$

Note that

$$p_m y_{n-k_m} < y_n + \sum_{i=1}^m p_i y_{n-k_i} = z_n \rightarrow -\infty \text{ as } n \rightarrow \infty,$$

which implies

$$\lim_{n \rightarrow \infty} y_n = \infty.$$

*Theorem 2.* Let  $(y_n)$  be an eventually positive solution of Eq. (1). If  $p_i \geq 0$  ( $i = 1, \dots, m^*$ ),  $p_i < 0$  ( $i = m^* + 1, \dots, m$ ),  $k^+ \leq k^-$  where  $k^+$ ,  $k^-$  are defined by (10) and

$$\sum_{i=1}^m p_i < -1,$$

then

$$\lim_{n \rightarrow \infty} y_n = \infty.$$

*Proof.* By Lemma 3 c) we have  $\lim_{n \rightarrow \infty} z_n = -\infty$ . Also

$$\sum_{i=m^*+1}^m p_i y_{n-k_i} < y_n + \sum_{i=1}^{m^*} p_i y_{n-k_i} + \sum_{i=m^*+1}^m p_i y_{n-k_i} = z_n \rightarrow -\infty$$

as  $n \rightarrow \infty$ , which implies that  $y_n \rightarrow \infty$  as  $n \rightarrow \infty$ . Now we present sufficient conditions for the oscillations of solutions of Eq. (1).

*Theorem 3.* Each of the following two conditions is sufficient to imply that all solutions of Eq. (1) are oscillatory:

a)  $p_i \leq 0$  for  $i = 1, \dots, m$  and  $\sum_{i=1}^m p_i = -1$ ,

b)  $p_i \geq 0$  for  $i = 1, \dots, m^*$ ,  $p_i < 0$  for  $i = m^* + 1, \dots, m$ ,

$k^+ \leq k^-$  (where  $k^+$  and  $k^-$  are defined in (10) and  $\sum_{i=1}^m p_i = -1$ ).

*Proof*

a) Suppose the contrary. Without loss of generality let  $(y_n)$  be an eventually positive solution of (1). By Lemma 3b), we have  $\sum_{i=1}^m p_i \neq -1$ , which is a contradiction. The proof is complete.

b) The proof of b) follows from Lemma 3c similarly.

*Remark.* In particular, for  $m = v = 1$  from Theorem 3a we get a known result (Theorem 1 (i) in [5]).

*Theorem 4.* Suppose  $p_i \geq 0$  for  $i = 1, \dots, m$ ,  $r_j > k = \max_{1 \leq i \leq m} k_i$  for  $j = 1, \dots, v$  and that the inequality

$$(11) \quad \Delta d_n + \sum_{j=1}^v \frac{g_j}{1 + \sum_{i=1}^m p_i} d_{n-(r_j-k)} \leq 0$$

has no eventually positive solution. Then every solution of Eq. (1) is oscillatory.

*Proof.* If not, we assume that Eq. (1) has an eventually positive solution  $(y_n)$ . Then, by Lemma 3a and Lemma 2 for the sequence  $(w_n)$  defined in (3) we have  $w_n > 0$ ,  $\Delta w_n < 0$ ,  $\Delta^2 w_n > 0$  eventually and

$$\Delta w_n + \sum_{i=1}^m p_i \Delta w_{n-k_i} + \sum_{j=1}^v q_j w_{n-r_j} = 0.$$

In view of the monotonicity of  $(\Delta w_n)$  we may write

$$\Delta w_{n-k} + \sum_{i=1}^m p_i \Delta w_{n-k} + \sum_{j=1}^v q_j w_{n-r_j} \leq 0,$$

and so

$$\Delta w_n + \sum_{j=1}^v \frac{q_j}{1 + \sum_{i=1}^m p_i} w_{n-(r_j-k)} \leq 0.$$

This contradicts the assumption that (11) has no eventually positive solution, and the proof is complete.



*Theorem 5.* Assume that  $p_i \leq 0$  for  $i = 1, \dots, m$ ,

$$\sum_{i=1}^m p_i > -1, \quad r_j > k = \min_{1 \leq i \leq m} k_i \quad \text{for } j = 1, \dots, \nu,$$

and the inequality (11) has no eventually positive solution. Then every solution of Eq. (1) is oscillatory.

The proof of Theorem 5 follows by argument similar to the proof of Theorem 4, and so will be omitted.

*Theorem 6.* Assume that  $p_i \leq 0$  for  $i = 1, \dots, m$ ,

$$\sum_{i=1}^m p_i < -1, \quad r_j < k = \min_{1 \leq i \leq m} k_i \quad \text{for } j = 1, \dots, \nu,$$

and the inequality

$$(12) \quad \Delta d_n + \sum_{j=1}^{\nu} \frac{q_j}{1 + \sum_{i=1}^m p_i} d_{n+k-r_j} \geq 0$$

has no eventually positive solution. Then every solution of Eq. (1) is oscillatory.

*Proof.* If not, let  $(y_n)$  be an eventually positive solution of (1). Then, by Lemma 3b) and Lemma 2a) we know that  $w_n > 0$ ,  $\Delta w_n > 0$ ,  $\Delta^2 w_n > 0$  eventually and

$$\Delta w_n + \sum_{i=1}^m p_i \Delta w_{n-k_i} + \sum_{j=1}^{\nu} q_j w_{n-r_j} = 0.$$

By the assumptions and monotonicity of  $(\Delta w_n)$  we get

$$\Delta w_{n-k} + \sum_{i=1}^m p_i \Delta w_{n-k} + \sum_{j=1}^{\nu} q_j w_{n-r_j} \leq 0.$$

which yields

$$\Delta w_n + \Delta w_n \sum_{i=1}^m p_i + \sum_{j=1}^{\nu} q_j w_{n+k-r_j} \leq 0$$

or

$$\Delta w_n + \sum_{j=1}^v \frac{q_j}{1 + \sum_{i=1}^m p_i} w_{n+k-r_j} \geq 0$$

Thus  $(w_n)$  is an eventually positive solution of (12) and this contradiction completes the proof of the theorem.

#### References

- [1] Agarwal R.P., *Difference Equations and Inequalities. Theory, Methods and Applications*, Marcel Dekker, New York 1992.
- [2] Georgiou O.A., Grove E.A., Ladas G., *Oscillations of Neutral Difference Equations*, Appl. Anal., 33, 1989, pp. 243–253.
- [3] Hooker J.W., Patula W.T., *A Second Order Nonlinear Difference Equation: Oscillation and Asymptotic Behavior*, J. Math. Anal. Appl., 91, 1983, pp. 9–29.
- [4] Kelley W.G., Peterson A.C., *Difference Equations an Introduction with Applications*, Acad. Press, Inc., Boston 1991.
- [5] Korczak J., Popenda J. *Oscillatory and Nonoscillatory Solutions of Difference Equations*, Anal. St. Univ. "Al. I. Cuza" Iasi., 36, 1990, pp. 361–370.
- [6] Ladas G., *Explicit Conditions for the Oscillation of Difference Equations*, J. Math. Anal. Appl., 153, 1990, pp. 276–287.
- [7] Lakshmikantham V., Trigiante D., *Theory of Difference Equations, Numerical Methods and Applications*, New York-London 1988.
- [8] Lalli B.S., Zhang B.G., Li J.Z., *On the Oscillation of Solutions of Neutral Difference Equations*, J. Math. Anal. Appl., 158, 1991, pp. 213–233.
- [9] Lalli B.S., Zhang B.G., *On Existence of Positive Solutions and Bounded Oscillations for Neutral Difference Equations*, J. Math. Anal. Appl., 166, 1992, pp. 272–287.
- [10] Philos Ch.G., *Oscillations in Certain Difference Equations*, Utilitas. Math., 39, 1991, pp. 215–218.
- [11] Szafranski Z., Szmanda B., *Oscillatory Behavior of Difference Equations of Second Order*, J. Math. Anal. Appl., 150, 1990, pp. 414–424.
- [12] Szafranski Z., Szmanda B., *A Note on the Oscillation of Some Difference Equations*, Fasc. Math., 21, 1990, pp. 57–63.
- [13] Szmanda B., *Characterization of Oscillation of Second Order Nonlinear Difference Equations*, Bull. Pol. Acad. Sci. Math., 34, 1986, pp. 133–141.
- [14] Szmanda B., *Oscillatory Behaviour of Certain Difference Equations*, Fasc. Math., 21, 1990, pp. 65–78.
- [15] Wyrwińska A., *Oscillations of Solutions of Difference Equations*, Rad. Math., 6, 1990, pp. 41–48.

(Poznań University of Technology, Institute of Mathematics, 60-965 Poznań, Poland)  
Received on 20.12.1993.